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   EXPLANATION	
  	
   LINK	
  

It	
  can	
  be	
  
argued	
  
that...	
  

Historians	
  
have	
  
argued...	
  

The	
  
sources	
  
suggest...	
  

Firstly...	
  	
  

Secondly...	
  

However...	
  

Conversely...	
  

To	
  join	
  
ideas	
  

To	
  change	
  
ideas	
  

This	
  means	
  
that...	
  

Therefore...	
  

In	
  addi>on...	
  

Furthermore	
  

On	
  the	
  other	
  
hand...	
  

Alterna>vely	
  

Consequently	
  

As	
  a	
  result...	
  

Because...	
  

We	
  can	
  
therefore	
  	
  
see...	
  

The	
  most	
  
important	
  
factor	
  is...	
  

It	
  is	
  clear	
  
that…	
  

Use	
  these	
  sentence	
  starters	
  to	
  help	
  you	
  write	
  your	
  P.E.E.L.	
  paragraphs!	
  

In	
  
conclusion	
  We	
  can	
  

infer…	
  

Moreover…	
  
But…	
  

So…	
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Here is a quick example of a P.E.E.L. paragraph.�

What was the main problem that Elizabeth I 
faced when she came to the throne of England 

in 1558? �
It can be argued that the main problem Elizabeth I of 
England faced when she came to the throne was the 
problem of marriage. Firstly, Elizabeth was expected to 
marry and produce an heir to the throne. If did not get 
married she would not have a child and the Tudor family 
reign would end. However, if she got married, Elizabeth’s 
husband could take over her throne and Elizabeth would 
lose her power. This meant that Elizabeth was in a very 
difficult position and would have to make a hard choice 
either way. We can therefore see that Elizabeth’s main 
problem in 1558 was whether to get married at all. �
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